Database technologies: Problem and solution:

Casual Wear Company is a local designer brand that sells causal dresses in Hong Kong. The company has been in the business for more than 10 years. It has three product lines: casual wear for men; casual wear for women, and casual wear for teens. 
Casual Wear Company is an e-store in which their orders are mostly from the web site, and there is no physical retail store. 
In the past 5 years, business is doing very well for the company. Sales orders had grown almost 10% per year. 
Currently, the IT department consists of three areas: the front-end team (three programmers), the back-end team (four programmers), and the operation team (three system administrators, and two DBA). 
You are an independent consultant hired by Mr. Causal who is the owner of the company to help with all the IT projects. 

Problem 1: Currently Casual Wear is using Microsoft Access as the database to store all the data for the company. Since the sales and customer data has been increased 10 to 15 % per year. Now, it is time to review the need for the databases. Mr. Casual heard about the Big Data, so he would like to migrate to Big Data. 

Solution: Explain and suggest how Mr. Casual successfully make the move.

Problem 2: A new product line – Casual for seniors will be launched next month. This is a new product line for the industry (Nobody has ever created this product line before).
Option 1 (Build): To support the new product line (Hardware and Software), IT has estimated that it requires HKD$2M for the project to accommodate up to 10,000 new customers.
Option 2 (Buy): A cloud provider – Salesfore.com can also provide the same service as the IT department with HKD$1M for 5,000 customers, then each additional customer cost $180.
Solution: Which options that you will suggest to Mr. Casual. Why?
[bookmark: _GoBack]
